
Lit. No. 67808 February 1, 2002

1994 and Later Harness Kit Selection

1994 and later vehicles with cab marker lights and/or dual rear wheels require the installation
of 61185 Park or Turn Lamp Harness Kit in the park light circuit. This will prevent electrical
overloading of the vehicle headlamp switch or wiring harness.

HEADLAMP AND
HARNESS KIT PARTS LIST
Dodge Ram W1500, W2500 and
W3500 1994 & Later
February 1, 2002

WESTERN PRODUCTS, P.O. BOX 245038, MILWAUKEE, WI 53224-9538
A DIVISION OF DOUGLAS DYNAMICS, L.L.C.

1999 and Later Without DRL's*

Dual Type HB-1

Harness Kit No. 62917

Headlamp Kit No. 61540-1

Quad HB5/HB-1

Harness Kit No. 63396

Headlamp Kit No. 61540-1

*See Page 2 for Parts List

1999 and Later With DRL's**
(All require 61584 Kit)

Dual Type HB-1

Harness Kit No. 63400

Headlamp Kit No. 61550-1

Quad HB5/HB-1

Harness Kit No. 63404

Headlamp Kit No. 61550-1

**See Page 3 for Parts List

1994 to 1998***
(DRL Equipped Vehicles Also Require 61584 Kit)

Dual Type HB-1

Harness Kit No. 62525

Headlamp Kit No. 61540-1

***See Page 4 for Parts List



Lit. No. 67808 2 February 1, 2002

Abbreviations

ASSY Assembly

HD Heavy Duty

HX Hex
HXW Hex Washer
W/ With

Dodge Ram W1500, W2500 and W3500 1994 & Later

1999 and Later Harness Kit Selection (without DRL’s)

1999 and Later Without DRL's

Dual Type HB-1

Harness Kit No. 62917

Headlamp Kit No. 61540-1

Quad HB5/HB-1

Harness Kit No. 63396

Headlamp Kit No. 61540-1

1994 and later vehicles with cab marker lights and/or dual rear wheels require the installation of 61185 Park or
Turn Lamp Harness Kit in the park light circuit. This will prevent electrical overloading of the vehicle headlamp
switch or wiring harness.

Without DRL's
Ram Dual Ram Quad

Part No.

62917
Harness Kit

HB-1

63396
Harness Kit
HB5/HB1

61540-1 HEADLAMP KIT 1 1

. 61438 PLOW HARNESS KIT 9-PIN 1 1

26009 PLUG-IN HARNESS HB-1(9004) -F 1

26027 PLUG-IN HARNESS HB-5/HB-1 -F 1

61437 VEHICLE HARNESS KIT 9-PIN 1 1

26013 FUSE HOLDER ASSY 1 1

62920 PARTS BAG (HARNESS KIT HB-1-F) 1

63397 PARTS BAG (HARNESS KIT HB-5/HB-1-F) 1

. 26010 JUMPER ASSY W/DIODE (White) 1 1

. 26016 JUMPER ASSY - 5" (Black) 1 1

. 61535K RELAY KIT 2 3

. 62919 JUMPER ASSY - 2 WAY 1 1

. 61562 JUMPER WIRE (Tan) 2

61547 PARTS BAG (HARNESS KITS) 1 1

. 61535K RELAY KIT 2 2

. 60109 FLASHER HD 1 1

. 61548 PLUG COVER 2 2

. 59224 BULLET RECEPTACLE CONNECTOR 3 3

. 59223 CABLE TIE 8 8

Indented parts are included in the assembly under which they are listed.
Quantities shown are included with the assembly.

Part No. Qty. Description

91055 2 M6-1.00X25 HXW CS G8.8

91056 4 M6-1.00 HX NUT

91119 6 3/16 PLAIN WASHER

22" Red Battery Cable

Furnished
M6 Nut

3/16
Plain
Washer

Battery
Terminal

Battery Clamp

Furnished
M6 Nut

Vehicle Positive
Battery Cables

Furnished
M6-1.00 x 25 mm
Cap Screw

3/16 Plain Washer

#61438

#61437

#26009
#26027



Lit. No. 67808 3 February 1, 2002

Dodge Ram W1500, W2500 and W3500 1994 & Later

1999 and Later Harness Kit Selection (with DRL’s)

1994 and later vehicles with cab marker lights and/or dual rear wheels require the installation of 61185 Park or
Turn Lamp Harness Kit in the park light circuit. This will prevent electrical overloading of the vehicle headlamp
switch or wiring harness.

1999 and Later With DRL's
(All require 61584 Kit)

Dual Type HB-1

Harness Kit No. 63400

Headlamp Kit No. 61550-1

Quad HB5/HB-1

Harness Kit No. 63404

Headlamp Kit No. 61550-1

With DRL's (All Require 61584 Kit)

Ram Dual Ram Quad

Part No.

63400
Harness Kit

HB-1

63404
Harness Kit
HB5/HB1

61550-1 HEADLAMP KIT-12 PIN 1 1

. 61558 PLOW HARNESS KIT 12-PIN 1 1

26009 PLUG-IN HARNESS HB-1(9004) -F 1

26027 PLUG-IN HARNESS HB-5/HB-1 -F 1

61557 VEHICLE HARNESS KIT 12-PIN 1 1

26013 FUSE HOLDER ASSY 1 1

61535K RELAY KIT 1 2

62919 JUMPER ASSY - 2 WAY 2

61562 JUMPER WIRE (Tan) 2

61572 PARTS BAG (HARNESS KITS U) 1 1

. 61535K RELAY KIT 3 3

. 60109 FLASHER HD 1 1

. 61548K PLUG COVER 2 2

. 59224 BULLET RECEPTACLE CONNECTOR 3 3

. 59223 CABLE TIE 8 8

Indented parts are included in the assembly under which they are listed.
Quantities shown are included with the assembly.

#61558

#26009
#26027

#61557

Abbreviations

ASSY Assembly

HD Heavy Duty

HX Hex
HXW Hex Washer

22” Red Battery Cable

Furnished
M6 Nut

3/16
Plain
Washer

Battery
Terminal

Battery Clamp

Furnished
M6 Nut

Vehicle Positive
Battery Cables

Furnished
M6-1.00 x 25 mm
Cap Screw

3/16 Plain Washer

Part No. Qty. Description

91055 2 M6-1.00X25 HXW CS G8.8

91056 4 M6-1.00 HX NUT

91119 6 3/16 PLAIN WASHER



Copyright© 2002 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any printed, mechanical,
electronic, film or other distribution and storage media, without the written consent of Western Products. Authorization to photocopy items for internal or personal
use by Western Products outlets is granted.

Western Products reserves the right under its Product Improvement Policy to change construction or design details and furnish equipment when so altered without
reference to illustrations or specifications used herein. Western Products and the vehicle manufacturer may require and/or recommend optional equipment for snow
removal. Western Products offers a limited warranty on all snowplows and accessories. See separately printed page for this important information. The following are
registered® trademarks of Douglas Dynamics, L.L.C: UltraMount®  and WESTERN®.

Dodge Ram W1500, W2500 and W3500 1994 & Later

1994-1998 Harness Kit Selection (with and without DRL’s)

1994 and later vehicles with cab marker lights and/or dual rear wheels require the installation of 61185 Park or
Turn Lamp Harness Kit in the park light circuit. This will prevent electrical overloading of the vehicle headlamp
switch or wiring harness.

Lit. No. 67808 Printed in U.S.A. February 1, 2002

1994 to 1998
(DRL Equipped Vehicles Also Require 61584 Kit)

Dual Type HB-1

Harness Kit No. 62525

Headlamp Kit No. 61540-1

1994-1998 Without and With DRL's
(DRL Equipped Vehicles
Also Require 61584 Kit)

Part No.
61540-1 HEADLAMP KIT 9-PIN 1

. 61438 PLOW HARNESS KIT 9-PIN 1

61525 HARNESS KIT HB-1 –C 9-PIN 1

. 62526 PLUG-IN HARNESS HB-1 –C 1

. 61437 VEHICLE HARNESS KIT 9-PIN 1

. 61535K RELAY KIT 2

. 59223 CABLE TIE 8

. 61548K PLUG COVER 2

. 59224 BULLET RECEPTACLE CONNECTOR 3

. 60109 FLASHER HD 1

Above listed parts may be found in the following assembly.

. 61547 PARTS BAG (HARNESS KITS)

Indented parts are included in the assembly under which they are listed.
Quantities shown are included with the assembly.

Abbreviations

HD Heavy Duty

HX Hex
HXW Hex Washer

22” Red Battery Cable

Furnished
M6 Nut

3/16
Plain
Washer

Battery
Terminal

Battery Clamp

Furnished
M6 Nut

Vehicle Positive
Battery Cables

Furnished
M6-1.00 x 25 mm
Cap Screw

3/16 Plain Washer

#61438

#62526

#61437

Part No. Qty. Description

91055 2 M6-1.00X25 HXW CS G8.8

91056 4 M6-1.00 HX NUT

91119 6 3/16 PLAIN WASHER


